the g3t Zo] BjE OAB 9] Hol7t 48cm?2, B2E OCD 9]
yol7t 12em? & W, 2x ©] 271E oot

2B Yol Z4lzke] A7]0] FujFetnz,
48 : 12 =120° : x
s Zx = 30°




2. TS a3 Zo]l 9 0 9|4 AB = BC = DE, /DOE = 45° < 1,
/x 9] 2717

@© 45° @ 60° @ 90° @ 100° ® 120°

AB=BC=DE o|E&
/DOE = /AOB = /BOC = 45°
. /Lx = 45° + 45° = 90°




3.

the 72l9] 9 O 9|4 /BOC = 2/A0B < 1,

o
2 F 84 ghe 2L

AV

B

VN N

@ 5.0ptBC = 25.0ptAB

~~ 1 N

@ 5.0ptAB = §5.0ptAC
®G)BC = 2B
@ AC <3AB

® FAEOBC 9] ol FAE0AB 2] Hol9] 2 Hio|tt.

® @9] Aol F4lze] 3719 H#5HA] grett,




oS o)A e REo| Eolo] Zo|E Fotodal,

2cm

> HE: 207cm

2t X 4 4 21 X 6 = 87 + 127 = 20m(cm)




trS O} Zro] A7l T 7|7} 120° o] HER]E 9] Zol7} 6 ¢l
H s
2

@47r @ 12 ® 127 @ 167 ® 24r

Z X710
(82 Zol) = (82 Sal) x %ﬁ—””

120°
2 = 4
7r><6><3600 D




